IP-abATM és IP-cAMU javit6ZH 2008.X11.18. és 2009.1.8.

javitoZH - A| o gyak_ | 6sszp || 1Zh.p.| 2Zh.p.| | javiZh |javZh.p.| ezh.p. | gZh.p.| pa1f| pa2f| pa3f| pa4f| ga1f| ga2f| ga3f| ga4f| datum
Bsc/abc-Zh1 javit | _jegy | 6.72p || 6.36p | 6.36p || _jegy | 36 18 18 | 3| 55| 5| 6| 4] 4] 4 |javzH
Kedd 12:30{ GEO| 3 32 9 17 2 15 6 9 114[1]10[6] 3] 0[O0 ]|xiis.
Csut. 16:00- JAT 3 35 7 15 3 20 12 8 215141 1]14]14(0] 0 |xu1s.
Kedd 12:30- NYN 2 30 10 18 2 12 4 8 1121 1]1]0[6]1 110 [ 18.
Kedd 12:30-{ TUZ 2 25 njm | 13 2 12 3 9 2101 1]1]0]6]0f2] 1]|xu18s.
javitoZH - B| KOD | gyak_ | 8sszp || 1zh.p.|2Zh.p.| | jav2Zh |javZh.p.| ezh.p. | gZh.p.| pb1f| pb2f| pb3f| gb1f| gb2f| gb3f| gb4f| gb5f| datum
Bsc/ab-Zh2 javit | _jegy | 6.72p || 6.36p | 6.36p || _jeay | 36 14 2 4] 3] 255|586 6 |javzH
Csut. 14:15-| BAM| 4 43 18 | njm 4 25 6 19 [ 1]13]12[0]5[5] 6] 3 [xns.
Csut. 14:15- BUK [nem_vizsgazhat 16 | njm nm [ nm |nm|nm|[n|n|{n|n|n|n|n|n]|nm
Kedd 12:30{ CSM| 2 27 15 9 2 12 8 4 3([3]2]0[4]0f[0] 0] L8
Kedd 12:30{ DOA| 2 27 15 | njm 2 12 3 9 O[3]0]0|2]3 (1] 3 |xu1s.
Csut. 16:00- PAP 2 30 12 10 3 18 7 11 [ 4] 3]1]0[0]5[0] 0] 6 [xn1s.
Csut. 14:15 TRI 3 33 15 6 3 18 5 13 [1]13]110]5[0] 6] 2 [xnis.
Kedd 12:30- VAT 1 21 12 6 1 9 4 5 O[3]1]0]2]0fO0] 3 |xu18s.
javitoZH - C| KoD | gyak_ | 6sszp || 1Zh.p.|2Zh.p.| | jav2Zh |javZh.p.| eZh.p. | gZh.p.| pc1f| pc2f| pc3f| pc4f| getf| ge2f| ge3f| gedf| datum
Bsc/c-Zh2 javit _jegy | 6.84p || 6.36p| 6.36p || _jegy 36 18 18 3 2 6 7 5 5 4 4 |javzH
Csit. 12:15-] OPL 3 |39+12]] 17 | njm 2 12 2 100 0] 0] 0[2]5[5] 0] 0 [xn1s.
Csut. 12:15- PAT 4 143+10|| 18 [ njm 4 25 12 13 (11214 [5]5[5] 3] 0 [xnis.
gyak.uv - D | KOD | gyak_ | gyak_ || gyak_| _uv gy.uv | pont |eZh.p.|gZh.p.|paif| pa3f| pb1f| pb2f| galf| ga3f| gb2f| gb4f| datum
Bsc/ab-gyak.uv _jegy |uv_jegy _jegy 36 15 21 3| 5| 4] 36| 4| 5] 6 |gyuv
Csut. 14:15-] MAZ [nem_vizsgazhat nm [ nm |nm|nm|[n|n|{n|n|n|n|n|n]|nm
Kedd 12:30-] VAT |nem_vizsgazhat nm | nm |nm|nm|n|n|n|n|n|[n|fn|n]|nm
gyak.uv - E | KOD | gyak_ | gyak_ || gyak_| _uv gy.uv | pont |ezZh.p.|gZh.p.|paif| pa3f| pcif| pcaf| galf| ga3f| gcif| gcaf| datum
Bsc/c-gyak.uv _jegy |uv_jegy _jegy 36 18 18 3| 53| 7|6 4| 4] 4]|gyuv
Csit. 12:15-| GAA| 1 2 2 12 7 5 111121 3[3]0]1][1]|xu1s
Cslt. 12:15-] ZSE |nem_vizsgazhat nm [ nm |nm|nm|[n|nf{n|n|n|n|n|n|nm




